ASSEMBLY INSTRUCTION ({ :c) angel cerda
3227-413F-2282

SETTING FITTINGS DR-413F-01-A

FITTINGS SPEC. AMOUNT | FITTINGS SPEC. AMOUNT
A &  M8x10 8pcs B &  M8x20 12pcs
C &= 5mn 2pcs




ASSEMBLY INSTRUCTION ({ :c) angel cerda
3227-413F-2282

SETTING FITTINGS DR-413F-01-A

FITTINGS SPEC. AMOUNT | FITTINGS SPEC. AMOUNT
A &  M8xl10 8pcs B &  M8x20 12pcs
C &= 5mn 2pcs




ASSEMBLY INSTRUCTION ({ :c) angel cerda
3227-413F-2282

SETTING FITTINGS DR-413F-01-A

FITTINGS SPEC. AMOUNT | FITTINGS SPEC. AMOUNT
A &  M8xl10 8pcs B &  M8x20 12pcs
C &= 5mn 2pcs

]




